
All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Replaces R&R Products Sand Max 216
Parts
Attachments
Edge Pro 300



All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Item
No

R&R
Part No.

OEM
Part No. Description

Qty
Req

Price
Each

Order
Quantity

Complete Edge Pro-300

1 REP-300 Edge-Pro 300 1 4095.60

Detail Description: The ultimate cart path edger! The Edge-Pro 300 mounts on most utility
vehicles or sand trap rakes to edge a professional, manicured look on any formed concrete cart
path or curbing in a fraction of the time it takes with traditional equipment. This new universal
design allows mounting on either side for ease of operation. The heavy-duty 14" curved cutting
disc follows the path of the curbing, installs quickly with only 4 bolts, then connects to the
battery for power and you are ready to edge. One golf course operator can safely edge 18 holes
in one day - just follow the path and the Edge-Pro delivers a perfect edge every time.:

Other Parts Available

2 REP-300G EP-300-G Electric Hyd Controlled Cyl 1 1485.30

3 REP-300X EP-300-X Bolt - 3/4-10 x 2 Hx HD 2 6.85

4 REP-300V EP-300-V Bolt - 3/4-10 x 3 1/2 Hx HD 2 8.35

5 REP-300P EP-300R Pin - Detent 1 9.60

6 R32153-6
EP-300-Z,
R64151-12,
REP-300Z

Locknut - 3/4-10 ESNA Zinc 3 1.95

7 REP-300H EP-300-H Swing Pivot Block 1 172.55

8 REP-300E EP-300-E Swing Arm Assy - Edger 1 574.50

9 REP-300J EP-300-J Control Switch - Electric
(Up & Down) 1 247.55

10 REP-300K EP-300-K Wire Assy - 14 Gauge 1 64.25

11 RP307 EP-300-ZE,
REP-300ZE Washer - 3/8 SAE 10 0.13

Replaces R&R Products Sand Max 216
Parts
Attachments
Edge Pro 300



All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Item
No

R&R
Part No.

OEM
Part No. Description

Qty
Req

Price
Each

Order
Quantity

12 R321397

EP-300-ZD,
R01-158-0480,
R01-189-0616,
R22-13-AJF,
R22-13-AJFD,
R32127-19,
R32127-32,
R32146-2,
R32146-3,
R32152-7,
R32153-2,
R32153-8,
R3296-11,
R8-9180,
REP-300ZD,
RT11234

Nut - 3/8-16 ESNA 10 0.27

13 REP-300F EP-300-F Steering Handle w/Univ
Joint 1 252.85

14 REP-300D EP-300-D Universal Joint - Steering 1 152.90

15 REP-300R EP-300R Pin - 5/32 x 3/4 Spring Roll 2 0.79

16 REP-300ZF EP-300-ZF Washer - 3/8 Fender 1 1.05

17 REP-300C EP-300-C Fork Assy - Edger 1 631.95

18 REP-300T REP-300T Bolt - 3/4-10 x 4 1/2 Hx HD 1 8.85

19 REP-300ZA EP-300-ZA Washer -3/4 Flat -
Hardened 3 1.95

20 REP-300B REP-300B Disc - Edger 1 96.95

21 R323-10

R01-150-0680,
R01-178-0616,
R100-6663,
R100-8320,
R1489,
R20-51-AD,
R20-51-AGD,
R3224-6,
R323-35,
R908336,
REP-300-ZB

Bolt - Hex HD 3/8-16 x 2 4 0.58

Replaces R&R Products Sand Max 216
Parts
Attachments
Edge Pro 300



All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Item
No

R&R
Part No.

OEM
Part No. Description

Qty
Req

Price
Each

Order
Quantity

22 REP-300A EP-300-A Hub Assy - Edger 1 331.70

23 R302-5

R173-0,
R21-6010,
R255825,
R302-37,
R302-47,
R302-57,
R302-58,
R302-6,
R31-0300,
R32-9660,
R471214,
R471223,
R471226,
R60-0800,
R62-3880,
R92-4181,
RJD7797,
RJD7842,
RJD7844,
RM0004,
RZS48114-04

Fitting - Grease 1 0.30

24 REP-300M REP-300M Base Plate - Base Assy -
Edge Pro 1 26.05

25 R400264

323-7,
R01-150-0180,
R01-178-0610,
R19H1732,
R20-48-AD,
R20-48-AGD,
R32-9160,
R3224-3,
R323-29,
R323-7,
R400264,
R908035P

Bolt - Hex HD 3/8-16 x
1-1/4 6 0.42

26 REP-300I EP-300-I Base Assy - Edge Pro 1 681.20

Replaces R&R Products Sand Max 216
Parts
Attachments
Edge Pro 300


